LABJNDu1-Normhelligkeit I* ,/
Yn=Yw nc=100, 1y

//
In(&

Y)]/(AZnADn MYnc/100<Y< Yo
W(Q-O)- 6
L* _49 I*,=498

I* =775, 82 A=1,00f'/¢=1,00

I*16=498,34, A=0,07./, A=0

*27=21017 )" =499/84 718’
SN / ' ereich

Vi lYu:18

Yn=3.6  Yy=90

LABJINDul
Normfarbwertdifferenz
Yac=Yw - nc=100,

1% aanput =INIA 10+ A2aV)I(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon =10, siehe CIE 230:2019

dYgg=0,53, Ay;=1,000, ¢=1,00
dY,g=0,12, A =0,017, A,=0,0058
dY3,=0,03 Y,=18, dY=0,12

I*,=498 dY,=0,12 dY,/Y,=0, 0067 _/

Anwendungs-

bereich
1 V=18

log AY/Y)

LABJINDul
. Normfarbwertemfindlichkeit
SHEYY Yoc=Yw - nc=100,

%1 aganpu1 =[IN[A 10+ A2 YVI(A 20A0n)] (Ya/100<Y<=Y,c)
AYIY=Ag A1 +AZYYY

(dY/¥},0,0059, Ay=1
(dY/Y}5-0,0067, An=0
(dv/Y;

,Ag ,0

6=1,0105 Yu=1& dY=0,12

Anwendungs-

5 .—.-bgreich
I* ;=498 dY;=0,12 dY,/Y,=0, 0067|
1

'Y,=18

log (Y/AY)

Yn=3.6  Yu=90
LABJNDul
Normfarbwertkontrast
Yoc=Yw =

=100,
%1 aganpu1 =[IN[A 10+ A2 YV)I(A 20A )] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY}=166,97, A,=1,000, ¢=1,00
(Y/dY)g=148,27, A=0,017, A,=0,0058
(YIdY} =95 03 218, d=0.12

C,=(Y/AY)

I* ;=498 dY,=0,12, Y,/dY,=148
log(Y/dY)=2,17, m,=0,13 -~ =~
Vs

-

Anwendungs-|
bereich

Y,=18

s Yiy=90

angndungs-

=
el

log(AY/AY,)

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

LABJNDul relative Normhelligkeit I*/I*
1%/1% Ync‘YW nc_loox
u

1* L aBaNDu1 =[IN[(A 10+A2nY)J(A 20A0n)] (Yd/100<Y<=Y,c)
I*(3,6)=219 I* ,(18)=498,I*,(90)=776

I* gyl =155, A)=1,000, ¢=1,00

I*1¢/I* =1,00, A=0,017, A,;=0,0058

I*3 gI*=0,43,1*,=498,34 =18

L*,=49,1* ;=498

Ya=3,6  Y\y=90
LABJNDu1 relative
Normfarbwertdifferenz
Yne=Yw nc=100,

%L aganbu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()
AYIY,=AgrfA 1 +AgYIdY,

dYog/dY,=4,43, A=1,000, =10
Y,/ , A=0,017, A2= ! 0
dY3 ¢dY,=0,31 Y,£18, dY=0,12

AY/AY,

o
I*,=498 dY,=0,12 dY,/Y,=0, 0067

LABJINDuL1 relative
Normfarbwertempfindlichkeit

SSu=OYMIBYN)y . =y, - =100,

L aganpu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()

@YIYYAYY,=(AgAg Y)Y AYIYY]
(dY/Yhg/(GV/Y)=0,88, Ay=1,000, ¢=1,

00
(dY/Y)g/(dY"=1.00, Ap=0.017, /,=0,0058
(dY/Y%vd(dY/YL-l,SG Y218 dy=0.12

log[(dY/YY(dY/Y),]=0, m=-0, 13 1
o= Anwendungs-|
I*,=498 dY,=0,12, dY,/Y,=0,0067 | boramung

1y,=18

Yn=3.,6 Yw=90
LABJNDuL1 relativer

Normfarbwertkontrast
CrlCru=(YIB(YIAY)y . =y, =100,

L aganpu1 =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,0)
(YVIAYY(YIAY ) =Y IYIAY ) )TA oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=1,00
(Vi (YIV} =100, Av=0,017 Ay 0,0058
(Y/dY%d(Y/dY =0,64 Y,=18, dY;=0.1

T
1
1 bereich

1y,=18

Yy=90




